


2. a>b AT THe F £ e ALY

® a+8>b+38 @ -a+9>-b+9
a b 1 1
4> - = i -z

®2 >2 4 @ a 4>b 1

© (-a)+(=2) > (-b) = (-2)



=

o

oo
HH

TS E R EF A

o

o mE 127 (A" 27H)

2
Da>0¥8M,ax+1>3 = x> =
a

2
@a>049 ", —ax+2>4 = x<-=
a

2
@ a<0¥9 W, —-ax+2>4 = x> =
a
2
@ a>0<8 M, —ax+4>2 = x> =
a

2
®a<09 ), —ax+4>2 = x> =
a



3x+2>-13

x—12>2x

@ sh7teich @1
@_

o] s2 Fah?

<x<5

5<x<-1

® -5<x<1



o]
AN

5. ol#
ES

a

rr o

L

2 3 djste] 9 B ¥ o] 4] 2 et 2. of
S B g A potofel,

A

=0



=]
JLEE)

50

=]
i,

ALg AzFe] 247} 45
3 At

5
d0]

200
120

13000

17000

-

Ul

3



-3<x<2¢

y = -2x+ 39 x o] §%7}

® 3 @ 5 ®7

@1



y=azr

By






10. f(a+2)-fla)=-6% AT y=ax+b2] f(1)<] Fto] 24 o,
a+ b9 327

@1 @ 2 @ 3 @ 4 ® 5



11. B5402(3x+ 1) > x— 212 GHEA7]= Adje] B4 Fatola),

Ct-

v



12. 254 x(a-4)-2<-8 93] F 2%gtol 2o
(T a<4)

Do @1 ® 2 @ 3



13. 3<11-4x<15¥4 o), x7} 2 £ Q= ASE 25 A2}

B =



14.

600 742 AT} 400 DAbe] S A1 gt Abhe Arc 2 )
o wol AT AAE 6500 U ol5HE AThw S Hd] B A7hA] 4
= Q7] Fatolet

a = 7



o

k13
=

= 5lo)
= -
1 uf 40 59

15%
[e]
=

10%, 40 g o)A
= o]

[e]
g2
u

03 °
0

B



16. QA%ak 4] 4e150] gol 66 Kk 2170 Bt &2 u), 4] 4SS
Fotofet.

o e
o e






® 3

@ 0



19. ax+y=19 xdHo] -1 o] 5}, 2x + by = 3 ] y HHO[ 3
olgtal g wf, a + b O] Gt oot

D S
=%



20. 2% 190|442+ ABC o] Hol7} 12

=
o
L
<
]
Y
)
——

ife)

?_

e
=

.

ul



21 - £ = T T
. H =
BE ) 3x+a
5~
5
> 4dx — a2
e
|l ot= #F<
A
A4 x 9
7H}\
k= 7}
8

Nk, o
.ol F4
, A4 a 9
. gE R A
= Jelod et
EEI ‘



@1

> w



23.

o4
e
i

ATy =ax+b O x AHo| —1 0|3, y H¥o] 2 U off, &

y = =bx+a 7t AUA] = AREH2?

@O A 1AREH @ Al 2AHEH
® Al 3AEH @ A 4ATEH

® A 3AFEHI} A| 4ALEH



(4, -1), (8, 1)< At

24.

1
@yzix

el o
+ I
= =
[a\] o~
Il Il
= =
Q ©
™ ™
I +
= =
— N |
Il I
= =
@ ©



25.

o2 283 22 AAE ABCD A A P
7t 4 BollA H C7HA] & 4em @] £ o2
=2o]a k. A P xx ¢ 2AAS
oj, oAPCD 9] ¥ ©]7} 2500cm? 7} =& x 9]
Fo9

§\I

_--80cm-~ _

/

!
50cm|

O 10 @ 15 @ 20 @ 25



